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1. Introduction

-
2. Reason for Change

This contribution corrects some details in the example given in section 5.6.
3. Conclusions

-
4. Proposal

It is proposed to agree the following changes to 3GPP TR 29.864 v0.4.0
5.6
Information Content vs. representation

To facilitate centralized storage, the information required to create basic telephony services must be conveyed to the HSS. To facilitate session processing, it must be conveyed to the requesting application server. This information is stored co resident with session processing in the active application server. This co-resident version is considered a cache. The master copy is viewed as the version stored in the HSS.

One application server goal is to allow higher subscriber numbers/capacity per application server. This goal requires architecture of this data to be extremely compact, regardless of the size of data transmitted from/to the centralized storage facility in the HSS, this form can be retained after registration. Increased numbers of subscribers that are concurrently cached at an application server drives capacity.

The HSS is impacted with increased size of this transferred data. Available memory in an HSS is allocated to each subscriber. Higher memory use per subscriber inversely affects the HSS capacity. For this reason, the HSS will consider compression of the stored data if that is practical.

With transparent data, the HSS is not aware of the content of the data. If the HSS were aware of content, then it could use this knowledge to reduce the size of the stored image. Since it is not, only generic compression techniques are available for this use.

If extensibility mechanisms such as XML are used to store data in an HSS, the increase in transmitted then stored information between the HSS and the application server could be between 30 and 100. A simple example showing the inefficiency computation for XML when it is used to represent communication forwarding busy follows. The XML shown is a representation of data related to communication forwarding busy.


[image: image1.emf]<communication-diversion active="true">

<cp:rule id="busy">

      <cp:conditions>

<busy/>

      </cp:conditions>

      <cp:actions>

<forward-to>

<target> 

               tel:+19742400002

            </target>

<notify-caller>true</notify-caller>

</forward-to>

</cp:actions>

   </cp:rule>

</communication-diversion>




[image: image3]This example gives a rough estimate on the XML expansion ratio. The tel URI could also be a SIP URI and would probably need a length indicator. Also, should the communication forwarding rules be more complex, using more of the combinations allowed by TS 24.604, the XML flexibility makes the XML schema simpler to use compared to a binary format which must beforehand encode any possible combination of the rules. As an example of a more complex diversion rule, between 9.00 and 17.00 calls from close friends may be diverted to a user's business phone, and all other calls to voice mail.
It is a design decision to weigh between design ease and service flexibility on one hand and on the other hand cost for memory and bandwidth. Compression is discussed in sub-chapter 5.7. 
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<communication-diversion active="true">
    <cp:rule id="busy">
      <cp:conditions>
			<busy/>
      </cp:conditions>
      <cp:actions>
         <forward-to>
            <target> 
               tel:+19742400002
            </target>
            <notify-caller>true</notify-caller>
         </forward-to>
      </cp:actions>
   </cp:rule>
</communication-diversion>



